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1. Answer the following questions : 1x10=10
©oTq 2Ry Teq fi

(o) What is endogenous growth?

R ICEITICREC N

{b) Mention one assumption of Solow
model.

75 wifEq @51 Sy ToEe 4 |
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(d)

fe)

(g)

(R)
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(2)

“Consumption function expresses the
relationship between consumption and
investment.” Is it true?

YT I 1”7 T TR 2

Who introduced the permanent income

hypothesis?
BT oY SR @ e SR 2

What is inventory investment?

wla| Rivce &2

What is monetary policy?

o1 A &2

What is time consistency of monetary
policy?

@1 AeF T AT 2

“Central bank of a country prepares
its fiscal policy.” Is it true or false?

P R (R QEF TR e e awe

PR G M (S 7

{ Continued )

2. Answer the following questions :

(3)

i ical assumption.
(i) Mention one classica

5 TS SfsaEe TeEd F |

() ~Name one new-Keynesian economist.

ﬂﬁ‘(%f@ﬁ?@@%ﬁ@mﬁ?ﬁl
2x5=10

WWWWW:

(a) Mention two limitations of Harrod-

Domar model.
o T-T T S ! Tt Tred 949
() Mention two assumptions of rational

expectation hypothesis.
Ffeors ol ST ot wfeaE SE
341 | '

(c) What is - meant DYy residential

investment?

sl R 3R & el

(d) Mention two objectives of monetary

policy.
i A 70! Trae Sead 9|
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(4)

(e} Mention two features of new classical

thoughts.
T RIS SRR 751 (IS Ty |
3. Answer any four questions from the

following : 5x4=20

eTe fraPpRd w1 & cpieTl BifEGT 2w Tew oy

(a) Explain the limitations of Solow model.
5'a W ARz 41 4 |

(b) Explain the technical attributes of
Keynesian consumption function.
(FEDR 191 ToE TGRSR 00 4 |

(c) Briefly explain the random walk of
consumption expenditure.
(15 IR 0T (IS TP 17 341 |

(d} Explain the main determinants of
demand for money.
U BRI A4 e v A |
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(S5)

(e} Distinguish between active and passive
monetary policies.

A F AT q@ Afes WS A Fefg
3

(/. How did Keynes differ from the
classicists? Explain.

IS HLASRTeTols (Fep 2o 2% ?
0T M1

4. Answer the following questions : 10x4=40

@S eppTyRe Tes fir

(a) Critic_:ally discuss the Harrod-Domar
growth model. '
RIT-OAE R SIEG TG TS
SICEGT <41 |

Or / S99

Discuss the relationship between
technological progress and elements of
endogenous growth.

e wefe W wgEEe  R[erm
SAMFRS T 1 S5 4 |
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(b)

(c)

(d)
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(6)

Discuss critically the permanent income
hypothesis.

R W SRl T TP S
27 |

Or / 9817

What are the determinants of business
fixed investment? Discuss.

e o Rifvcms P & & 7 s
1 |

Critically discuss the Keynesian
consumption function.

(B CO9] ! FACENB] HRBICE S
41 | :
Or / 9441

Discuss the ‘government budget
constraint’.

‘SAI] ACEG A SCADA FHT |

Discuss different types of government
debt. What is Ricardian equivalence?
7+3=10

EEE dow f[{fen  aeeenR weEme w9 |
fa=prer et 6 2
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A23—3000/853

(7))

Or / 54!

Discuss the main features of classical
school of macroeconomic thought.

TR wefAfes CEeRE k@S by W@
MBI ST 4 |
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